Ex/Phy.EDN/UG/T/1.2/2017
BacHELOR oF PHYsicaL EbucaTioN ExaMINATION, 2017
(1st Year, 1st Semester)
PHysicaL EbucaTION
PaPer - UG/CC - 102
(ANATOMY PHYSIOLOGY & EXERCISE PHYSIOLOGY )
Time: Threehours Full Marks: 70
1. Answer anythreefromthefollowing:
A. Answerthefollowing: 2+2+6+5=15
i) Define2nd Heart Sound.
i) DefineBradycardiaand Tachycardia.
iy Draw and describe the mechanism of circulation of
blood through human heartin brief.
iv) Mentionthefunctionof Bloodinbrief.

B. Answerthefollowing: 2+2+4+4+3=15
i) DefineDigestion.
i) DefineB.M.R.
i)y Describethedigestion of carbohydratein brief.
iv) Draw and point out the Macroscopical Structure of
Kidney.
V) Mention Only thefunctionsof Kidney.
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C. Answer thefollowing: 3+4+2+6=15 5) T eesiv «@a A #ifi et (Avg)

) Mentiononly thefunctionsof Skeletal system. o) qo ffefbR ) 200 fffEbE
i) Describethefollowing joints (by mentioning only the 3) oso NfefbE %) 9.0 BoR
Bony formation and their movements) :- &) Gl Sl foeTs Burs Sz I
a) Elbow joint w) WizGE S o) Sifc®m FAHH
b) Kneejoint 3) fasi@ N %) (PGS T
iii) Classify Muscles. A) B PRTEING (@IS @ 919 ¢
) 444xxy ) 44+xy

iv) Namethefollowinggroup of muscles:

a) Supinator of forearm 2)  44+x0 %) A4+xx

b) Hamstring group of muscles «B) TS Pn Ze

c) Musclesof arm v = @
. I 3) a.8 %) .Y
d) PrincipleClimbingmuscles
_ B) B4 AR ol b v e ¢
D. Answerthefollowing: 2+2+4+3+4=15
w)  Gifeifer o) emibh™ TR
i) Definehormone.
3) AECAGR %) (APORNA (o=
i) Namethemixed glandsinyour body.
F) WA (PPl A % ¢
iii) Describethe functions of two mixed gland in your
) TEHIEN

body.

) GBI 9L AT BB FOIE
3) I3
%) (FICADBIZ 7

Iv) Mention only thefunctionsof Placenta.

v) Draw and point out the ‘Female Internal Genital

Organs’.
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Widest nerveinour body is:

a) Femora N b) AxillaryN

c) SciaticN d) Radia N

Usual methods of measurement of B.P. are:

a) Oscillatory method b) Palpatory method

c) Auscultatorymethod d) All of them

During Anxiety, Emotion, Exercise Pulserate becomes:
b) Bradycardia

d) Noneof them

a) Tachycardia
¢) Normd
Total count of W.B.C. becomes:

a 5-6million/cum.m.

b) 6-8thousand/cu.m.m.

c) 1.5lacks-4.5lacks/cu.m.m.

d) Noneof them

Timetaken for one complete cardiac cycleisabout :
a) 12 seconds b) 18 seconds

c) 50 seconds d) 0.8seconds

vii) Theaverage minutevolumeisabout :

a 70ml b) 200ml

c) 5040ml d) 3.3lits.
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viii) Right Atrioventicul ar orificebecomesreguarded by :
a) Mitrd Vave b) SemilunarVave
c) TricuspidVave d) Noneof them
iX) InTurner Syndromethe chromosomal pattern becomes:
a) 44+XXY b) 44+XY
0 44+XO d) 44+ XX
X) Phof bloodis:
a 6 b) 7
o 7.4 d) 7.6
xi) Mention theAccessory Muscleof Mastication :
a) Trapezius b) LaissmusDors
¢) Buccinator d) PectordisMgor
xii) Namethemusclesof Respiration:
a) TheDiaphragm
b) External andinterna Intercostal

c) Allof them d) noneof them
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E. Answerthefollowing: 2+3+10=15
i) Define reflex action by mentioning ‘Reflex Arc’.
ii) Namethetwelve Crania nervesinyour body.

iy Describe the effects of Exercise or training on
following systems (Any two) :

a) Circulatory System
b) Endocrine System
¢) Respiratory System
Write short noteson (any three) : 305=15
i) AthleticHeart
i) Oxygen Debt
i) Neurone
iv) Isotonic Contraction
V) AerobicExercise

Mention the correct answer fromthefollowing (MCQ) (any
ten) : 1010=10

i) Bonesmay bedefined ascollectionof :
a) Digedivesystem b) Excretory system
¢) Haversansystem d) Respiratory system
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